Série 1

(1) Calculer en ligne avec une étape : (3) Calculer en ligne avec deux
1 % 60 etapes :
2 3 X 60

(2) Calculer le nombre manquant : 2

4x?2=7




Série 2

(1) Calculer en ligne avec une étape :
60 X 1
3

(2) Calculer le nombre manquant :

8X?=6

(3) Calculer en ligne avec deux
étapes :

60><g =
3



Série 3

(1) Calculer en ligne avec une étape : (3) Calculer en ligne avec deux
1 % 60 etapes :
4 El X 60 =

(2) Calculer le nombre manquant : 4

12x?=3




Série 4

(1) Calculer en ligne avec une étape : (3) Calculer en ligne avec deux
60 x % etapes :
60 X 7 -
(2) Calculer le nombre manquant : 5

8x?=1



